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nr | Lmm] [B[mm]| Timm] | Menge | coli

7 | 450 (370 28 [ 1 [4/7
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nr [L[mm][B[mm]| T(mm] | Menge | Colii

f“-\, 9| 318 (32816 | 5 [5/7

MAX \ 17| 312 [197 |16 | 2 [5/7

7 I 18] 300 [140 ] 12 | 2 |5/7

T~ = 19] 300 [140 [ 12 | 2 [5/7

O 201693350 16 | 1 |5/7
= | . 21 (1693|350 16 | 1 [5/7
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10 KG@ e 25| 285 [140 | 12 | 2 |5/7
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nr | LLmm] [B[mm]| T[mm] [ Menge | Colii nr | LLmm]|B[mm]| T{mm] | Menge | Colii
3411450244 | 16 1 3/7 38| 328 | 224 | 16 1 7/7
3511450244 | 16 1 3/7 3911429(340| 3 1 6/7
36 328 (244 | 16 1 3/7 401444354 | 18 1 6/7
37| 328 |244 | 16 1 3/7 4111800 (370 | 28 1 5/7
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